AFRICAN ECONOMIC RESEARCH CONSORTIUM

Collaborative MA Programme in Economics for Anglophone Africa
(Except Nigeria)

J OINT F ACILITY FOR ELECTIVES (JF E) 2011
= ' JUN E SEPTEMBER RN

CORPORATE FINANCE AND INVESTMENT I

First Semester Fmal Exammatlen

Duration: 3 Hours Date: Tuesday, August 2, 2011

INSTRUCTIONS:
1. Answer ANY FOUR (4) questions.

2. All questions carry equal marks.

Question 1

(a) With reference to different type of investors in the market, conceptualize “certainty equivalent

rate” of a portfolio. (6 marks)
by (i) By using examples, explain and differentiate between annuity and perpe.tuizjz
_ - (4 marks)
(ii) Suppose you are given a perpetulty C that grows annually by a rate of growth g and
' the provided discount rate is ». Show that valuation of your growing perpetuity gives
a PV that is equal to C/(r - g). (8 marks)

(c) A present value (PV) of a stock can be defined as: (i) a PV of the sum of values of dividends
plus the next period’s stock price; and (ii) a PV of values of all future dividends. None of these

definitions is wrong. Explain (7 marks)
Question 2
(a) Discuss sources of long-term financing of the firm. (6 marks)

(b) Assume a case of an economy where inflation is rising and interest rates have kept increasing.
Suppose you are provided with four consecutive periods’ spot rates of interest as follows:

ry =3%; 12 =5%; and r; = 6%; and rs = 8.

(i) Compute two periods forward rate of interest for_ a loan to be repaic_l in period 4.

(4 marks)
(i) Briefly explain the dxfference between a forward rate of mterest and a future spot rate of

znterest‘? ' | a (3 marks)
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(111) Assume a Iender currentiy accepts 6% mterest on' 1~—year 1oan prov1ded today, but
because inflation is expected to rise next year, she intends to accept 9.5% interest on the

same matunty Joan to be provided 4 year from today. Assuming further that you believe

in pure»expecmtzons hyporheszs of the terrn structure of 1nterest rates, find the expected !

_ ﬁlturespotrate ERE LT s (5 marks)
. (c) How' doe_s capltal asset pnclng modei (CAPM) dtffer from arbztrage asset pricing theory :
Lo Ok
_ QuestmnS _ . S . L . e
(a) What do you understand by efﬁc1ent and 1nefﬁc1ent mvestment strategles under the meanm:
: varlanceanalyms? T T R (6marks) '
“(b)- Suppose a 3-month (91 days) maturity Treasury bill of face value $44 000 is Issued at $41 800 '
- and the lnvestor is sure that she can rollover the T~bt11 at least through a penod of 12 months
T (z) What is the rate of retarn to 1nvestment m th1s T b111 opportumty over 1ts matunty penod‘?
S : : - L S (I5marks)'
() What is the annuahzed effectwe 1nterest rate of her Investment‘? 4 @ marks): -
e (111) Calculate the bank dtscount rate of th1s mvestment s L (3 marks)f '
R (39 ‘How do answers in (ii) and (ii) differ; and why?’ S S (1 5 marksy
- (c) A short-term ﬁnancmg policy of the firm ¢an ‘be’ ﬂexz‘o}e or restrlcttve Explain and clearly B
_' __"_iilustrate these two types of ﬁnancmg pohc;es S (7marks)
(d) Brteﬂy explam what you understand by marklng to ma:rket” in’ futures optton transacttons
R Sl RSN : _ o o - : (3marks)
Question 4

- /("‘11

———~——-—-—~—(a}——Cempare—and d1fferentxate—between—seeurlty—maeket 11ne(—SMI:r)~and~cap1taI~market thv'h_, ;.' .

(b)

* In hedging strategies, buying a call option and writing a put option simultaneously provides- R

- free asset (bond) that matures at time 7 (with discount rate, 7;) prowdes jLISt the same payeff as. o

(8 marks)

Let ST denote secunty prlce in the market at tlme T, WhICh is an agreed expzratzon date. of __ SR

~ contracts in the call & put derivatives market. Let. X denote strike przces of these denvatzves

the same payoff }ust like buying a put option and writing a ‘call option: Further, the same
symmelry exists in strategies where holding a portfoho of a call option and an underlying risk -

o holdmg a portfoho comprising a put option and an underlying stock security. Suppose price of - -

a call option is defined as C and price of a put option as P, while the cost of the stock secur;ty SRR

N is denoted Sn Usmg thls mformatxon clearly expiam and ﬂlustrate PW'C“” Pa” ity theorem.

: 1mportant manumberof Ways Explam Gl T e (7marks)

Tn the economy where ﬁnancxal market is developed stock and bond market indices are -

: Pa’g'e'ZIof?t. ._ | B

- (10 marks) 8



Question 5

(2)

(1) What is the essence of using one-factor model in APT? And giving the reason, what do you
think is the appropriate factor to use? (4 marks)

(ii) Is the one-factor model approach apphcable in analyzing assets’ returns in developing
_ countr1es‘7 leereason o i e (Zmarks)

(b) Durmg the next mvestment perzod Mr Robmson is aware but u.ncertam about three p0531ble

scenarios of economic performance ‘namely: boom, normal or recession. He wants to invest in
three assets. shown in the table below, which has information. about expected returns of each
asset and the respective scenarios probabilities. Compute mean and variance of his portfolio
with the foliowmg proportlons of the assets: stock 1 (20%) and stock 2 (50%) and stock 3

(B0%). . Do L R : (9.5 marks)
Scenarie [Probability (pr} [Stock 1 |Stock 2 |Stock 3

Boom 0.3 0.13 0.10 0.08

Normal 0.5 0.07 0.09 0.06

Recession 0.2 0.05 | 0.03 0.04

() Suppose REXONA Co. Ltd. wants to borrow and the best mterest it can get in the bank given its

tisk is 9.0% fixed, or a six-month LIBOR + 100 basis points floating. Suppose also that at the
same time EXPRESS Distributors Ltd, wants to borrow and the best interest it can get in the
bank given its risk is 8% fixed, or a six-month LIBOR + 60 basis points floating. If REXONA
contacts EXPRESS and negotiate for interest rates swap with a proposal that REXONA has to
borrow floating, and that it has to pay EXPRESS a fix rate of 8.2%; explain and show clearly
how this swap strategy proposal could help these companies reduce their respective costs of
borrowing if implemented. (9.5 marks)

Question 6

(a)

(b)

Briefly explain and distinguish between “goal of the firm” and “goal of the management” in
business entities. In your undertaking, highlight the problem and cost involved in pursuit of
these goals. (5 marks)
Suppose the term structure of interest rates of a bond with par value $2,500 is as follows:
Maturity (years) 1 2 3 4 5
Spot rate (%) 4 6 | 751 85| 9
(i) Draw a yield curve from the presented table. (2 marks)

(i) Assume a 2-year 5% coupon bond of the same value ($2,500) was issued; use the
available information to ascertain its market price. (4 marks)

(iii) Given this information, what is the yield to maturity of this 2-year 5% coupon bond?
(3 marks)
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(c) You are prowded WIth the followmg mvestment mformatmn of Na1rob1 Dalry Ltd (NDL), S
7 which currently sells milk in the city. NDL intends to estabhsh an extension company named. ...
- “Packets Master Co.” for production’ of milk packets. Investment cost is estimated to be
 $120,000. The envxsaged lifetime penod of this project is 6 years, “after which it ‘will be
" obsolete, anid will either have to be rebuﬂt or scraped off. A/ forecast of cash ﬂows of the
© Packets Master Co. over its life time is as follows, respecuvely $100,000; $113,000;
1 $115,000; $150,000; $98,000; and $40,000. Note that NDL uses a straight line depreciation
" method for its property. If progccted respective expenses of the Packets Master Co. are: .~ .
'”'$50 000; $40,000; $22,000; $105,000; $65,000; and $20,000, wh11e corporate income tax 1sj T
gomg to bc 3()% for ihe ﬁrst3 ycars and i’hcreafter 25% -_ e : (

(1) Compute average accountmg retum (AAR) of the NDL extens1on prOJect (8 marks)

S (11) Do you think that NDL WouId choose thzs prOJect 1f its decmlon criterion is'an AAR =
- 30%or above’? Give rcason LT : i (1 marks)

__:'(111) What are the drawbacks of usmg AAR as compared to NPV in mvcstment prOJects
v appralsap e e e S e (Zmarks)




